Timber Lake, Sherman Transect Data Survey by Greg Bugbee and Roslyn Selsky

*Plant abundance is on scale of 1 — 5: 1 = present but rare (1 plant), 2 = occasional (a few plants), 3= |**Follow this link to convert decimal degrees to degrees minutes seconds
common (more than a few plants), 4 = abundant, 5 = extremely abundant or dominant http://www.fcc.gov/imb/audio/bickel/DDDMMSS-decimal.html
£ £ 2
5 % > 38 s s 3l
gl |5 °| € | & > E o =
of € o <l 5 2 ol | @ G| < c c| 2
=| > = ol = El =| 5| = el €| 80 =
. o o| £ S ol zel 2l 2| x|l gl 5|gz122| 9o 5 o
o © o =] o = =]l a2l s [ 2 gl = 5| 85| &2 S| & S E
g | % £ i ol 8| S 2| S| E| | al & B E=|EZ| E|3 E £
2| 8| 2 s HEEE glals=zl gl =|l&l8lg 28283 g2 o = g
3| & 3 2 == 8] = 2la|S8lm| =[Z2[2|2] L|8E&[L&5| &[5 a 5 3
Roslyn partially ludwigia=1,
Selsky 0.5[Rock [sunny 1 1| Ojchara 0 2l 0O 2l o] 1f o 0 1 1 0] 1] 9/7/2006|41.53465 [-73.51258
Roslyn partially
Selsky 1|Silt |sunny |Northwest |1 2| 5 0 1] 0 ol 0] of O 0 1 0 0| O] 9/7/2006|41.53470 [-73.51252
Roslyn partially
Selsky 1.8|Silt |sunny |Northwest |1 3| 10{chara 0 3] 0 ol o] 2f o 0 3 0 0| O] 9/7/2006|41.53472 [-73.51252
Roslyn partially
Selsky 3|Silt [sunny |Southeast |1 4| 20 0 0l O ol 0] of O 0 0 0 0| O] 9/7/2006|41.53478 |[-73.51247
Roslyn partially
Selsky 3|Silt  [sunny 1 5| 30[chara 0 0 O 0ol o] of o 0 0 0 0| O] 9/7/2006|41.53491 [-73.51248
Roslyn partially
Selsky 3.5|Silt |sunny [Northwest |1 6| 40|chara 0 of O of of of o 0 0 0 0| 0| 9/7/2006)41.53501 [-73.51238
Roslyn partially
Selsky 3.5|Silt  [sunny [Northwest [1 7| 50|chara 0 0 O 0ol o] of o 0 0 0 0| O] 9/7/2006|41.53508 [-73.51227
Roslyn partially
Selsky 3.5|Silt |sunny |Southeast |1 8| 60|chara 0 ol O of of of o 0 0 0 0| 0| 9/7/2006])41.53515 [-73.51239
Roslyn
Selsky 3.5|Silt  [sunny [Northwest [1 9| 70|chara 0 0 O 0ol o] of o 0 0 0 0| O] 9/7/2006|41.53532 [-73.51230
Roslyn partially
Selsky 3.5|Silt |sunny |[Northwest |1 [ 10| 80|chara 0 of O of of of 0O 0 0 0 0| 0| 9/7/2006|41.53537 [-73.51226
Roslyn partially ludwigia=2,
Selsky 0.25|Silt  |sunny 2 1| Ojchara 0 0] 3 0ol o] of o 0 0 0 0| O] 9/7/2006|41.53784 [-73.51213
Roslyn partially
Selsky 0.5|Rock |sunny 2 2| 5|chara 0 ol O of 2 o] o0 0 0 0 0| 0| 9/7/2006]|41.53780 [-73.51212
Roslyn partially
Selsky 0.5|Rock [sunny |West 1 3| 10|chara 2 0 O ol 2| of o 0 2 2 0| O] 9/7/2006|41.53774 [-73.51213
Roslyn
Selsky 0.75|Silt [sunny [West 1 4| 20|chara 0 ol O of of of o 0 2 0 2| 0| 9/7/2006]|41.53765 [-73.51212
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Roslyn partially
Selsky 1.5|Silt  |sunny 1 5| 30|char 0 0l O 0ol 0] of o 3 0 0 2| 0] 9/7/2006(41.53756 |-73.51215
Roslyn partially
Selsky 1.75[Silt  |[sunny [North 1 6| 40|chara 0 0 O 0l 0] of O 0 2 0 0] O] 9/7/2006|41.53745 |-73.51214
Roslyn
Selsky 1.9|Silt |rain North 1 7| 50 0 0l O 3] 20 of o 0 3 0 0| 0] 9/7/2006(41.53738 |-73.51217
Roslyn
Selsky 1.9]Silt |windy |North 1 8| 60|chara 0 0 O 0l 0] of O 0 2 0 0] O] 9/7/2006|41.53728 [-73.51211
Roslyn
Selsky 1.8|Silt |windy |South 1 9| 70|chzra 0 0l O 0ol 0] of 2 0 0 0 0] 0] 9/7/2006{41.53719 |-73.51205
Roslyn
Selsky 1.8]Silt |sunny |North 1 | 10] 80jchara 0 0 O 0l 0] of O 0 0 0 0] O] 9/7/2006|41.53708 [-73.51208




